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Inverse problems on average.
Example 1

The average of 3 numbersis 12. What is the sum of the three numbers?
sum of all items
number of items
sum of all numbers

Since average =

12 = : 3
12%3 - sum of allanumbers x 3
36 = sum of all numbers

. sum of the three numbers is 36

Exercise 8:8 Now try these:
1. The average of 5§ numbers is 6. 6. Findthetotal number oflitres of

Whatis the sum of the 5 numbers? water if 21 people use 35 litres of
2. The average mark of a pupilin wateron average.

4 tests is 80. What is his total 7. The average age of 3 students

mark? is 20 years. Find the total age of
3. The average weight of 7 men is all students.

85 kg-Whatis theirtotal weight? g The average cost of 9 books in
4. The average length of 5 ropes abookshop is sh. 1080. Whatis

is 45 cm. Whatis the total length the total cost of the books ?

?
of the ropes? 9. Find the total wages of 8 factory

5. The average age of 9 pupilsis 15

years. Whatis their total age? workers whose average pay is

sh. 2400 per day, per worker.

More about averages.
Example 1
The average mark of 4 pupils is 6, and the average mark of 4 other pupils
is 8. What is the average mark of all the 8 pupils ?
The total mark of 4 pupils = (4X6) =24
The total mark of 4 other pupils = 4X8 =32
The total mark of the (4 +4) pupils = (24+32) =56
7‘-‘
The average mark of the 8 pupils = -:;ra1 =7
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